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Test 1 (A)

The length of the test is 1hr and 45min. You may use a nonprogrammable, nongraphing scientific

calculator. Remember to clearly show all of your work and to use correct notation. Do not use
decimals unless otherwise stated.

Question 1. Find/evaluate the foIlowing:
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Question 2. (5 marks) Let f'(x) = 1/x+ 1. Find f(x) given f(9) =3.
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Question 3.
(a) (I marks) Write the definition of the definite integral
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(b) (3 marks) Using words describe
i) What Ax is.

AK 15 THE widTH of AN APPROXIManAg REMANGlE M
THe RleMandy  SoM\-

ii) What f(x;)Ax is.
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(¢) (6 marks) Use the definition of the definite integral to find:
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Question 4. Evaluate the following definite integrals:
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Question 5. (4 marks) Find the area of the region bounded between
f(x) =x>+x2—5x+2 and g(x) = x +2. Sketch a graph to help solve the problem.
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Question 6. (5 marks) Given
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find the following (show your work for full marks):
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